
(urumuurnr-il hil'

"U[rtuq]nnfr\" OFe-b

qfuurr{np mhoPhtr

U. Uurpqulutr

10 01.2020 P

"UtruflrrnlrU 
I' otrf -h qtr nr-rltrhpfr qttub

a)um{fipurtnnr- "U[-rur[rrnfr\" <DFQ

OputqhpU

Uh{uDnr-rip qtrnr-ritrhpfr ullurh

bf^iurhuurt[npnut tD\bpru-p1urh ilfr2nghhph hur2rlftt

*'i,,lYi;=-qx

u | /il.fJ\ 1:r {-i!",:fi\.,r1 I - s

't^'z\ \$L4t"J7rolt

Qtnfu
tr &tl

2l,J

UfrurtlnPft

truluruhtu2tl
rujhf qbbs

€tutrur\

E

ChrlhurhntP
qntdrupr/r

quu

fotlurlhit
rlururu\rupq

It:tthp

Qbrirutr urnruP\ru1ft

url-r{urhnuiP

uqfuL.PLbI'

L 24961700 Crurlntnh hrulurLnP qz hruur 1 800 i800 3 240 000

2 24271180 lruruluplr oputl4 q2 \q 2200 600 1 320 000

10 000 200 2 000 000
3 2432rr70

Ugbrn[1bb quq
(purlnlrntl)

gz \q

4 33631440
Lurtnplrntd[t
urhu1rrupnnuut

qz \q 900 600 540 000

!
\q

s00 1200 600 000
5 33621766 Urplppnt I qZ

3 000 1
I 3 000

6 33691851
trrufirnr-ri-tnur'npfrnul

^Ll,L^^'1"' l 
' 
rrrh

qz

qz \q 400 700 280 000
7 24311271 Unrpu \urpfrhurgqurb

600 200 120 000
8 2432t860 Uqnuru\tuh PPnr Tl- \q

qz t

T
\q

4 000 20 80 000
9 24321830 Fqnurtilrluqbptn

2 500 5 12 500
1C 24321840 Utinhlrnttifr nn4ruhfrur qz

1 s00 J 4 500
11 24311710 Utinhfrntrifr $*tnhtl qz

gz \q 1 500 1 1 500
t2 243r1720 Udnbf nttifr Ptt$tn nnttrt

\q I 500 I 1 500
13 24311730 trrufirnuifr hfr{pnpuft4 q2



fafrndlrqublnrP
qZ hq 2 000 6 12 000

I4 24321850

q2 hq t 500 5 7 500
l_) 14781300 Luurpirntdlr rughtnutn

qZ t 1 000 z 2 000
L6 24321440 Urungh prugurluutPPnt

q2 \q I 000 1 1 000
II 24311r24

Lruurpfrntdlt

tnhnunr-t$urtn

\q 650 50 32 500
18 243trlr4 flEilnutrurh Branl qZ

qZ ttq 2 500 1 2 500
19 33691 153 trrunhnuih Plnph4

qZ frton 600 35 21 000
20 2441 1300 Utinhfrtu\ 2purlbb

\q 4 000 60 240 000
21. 1s991700

$ltt-nh Pnlqfd
/rabnBtuthU-

qZ

hq 4 500 45 202 s00
zz 1471 1300 gurqurp hrutnfr\ur{nP qZ

4,2
L

2 000 15 30 000
23 1591 1 100 Uqltptn pd2lurlrutt

l,
425 4000 I 700 000

24 9132100 trhhqlrtr /qPbrilrnui/ Yl.

uu

uu

huru 2 500 2 5 000
25 38s91200

Sht onit fdnl\P uq. /11

uri/pirdlnu\ult

tulFnpurnnPfnulnui
\frpurnrlnrl uqlPEl-

hturn 2 500 3 7 500
26 38s91200

Stttutth pnqfd \uq.
/11uti/ pfniirur\ul't

lurpnpurunPlrurlnr-d

\frpruntln{ uurPPhP

uu hurtn s00 100 s0 000
27 33141129 Ch2ru4fnlu\

hurtn 10 000 10 100 000
28 1831 1 190

LutpnpunnP
ru2|uurtnurtrPhbfth

turuturBtrbn

uu

100 150 000
29 31671 100

thpriru\ur3nr-h

nurdrubhhn 1250'J]1
uu hrutn | 1 500

20 100 000
30 92rr620 9ntlqpbunph lnut uu t s 000

30 3 000
32 33191580 Uurtrtnunlfrll uu huur 100

3 9 000
33 33141 131 trd2\tu\urb dqnttn uu hruur 3 000

uu huur 400 15 6 000
34 33141 1 15 trurdpurh Pd2\ur\utt

uu huru 1 500 6 9 000
35 33141 133 trfrhtn

400 10 4 000
36 33141213 'truqhfrtt uu hurn

90 13s 000
37 33791300

Lrup. dbhurulull{ru

hrulurhnphhP
uu htutn 1 500



38 941 1300 'tlpnqurtr pntpurh qtuq UU \q 700 500 3s0 000

39 39812410
gruhntSpfr ]ubutfpft
rfhono

uu hruur 600 20 12 000

40 39831273 luurur\fr riurppnrl tr3ntP uu tJrurp 2 s00 5 12 s00

4L 2445rrt0 Ulr2urtnruuqrutr trj ntPhP UU hq I 000 5 s 000

42 19641000
Anfrkpfrlhhtu3[t-t

ohrn$urh
uu qd 250 10 2 500

43 19640000
'tlnfrtpfrlhhurSftr
ohrn$urtr

uu ri 200 30 6 000

44 19641000
'tl nflrkpfrlhliurj frtr uluptl
/1ihb/

uu hurtn 100 800 80 000

45 19642100 Snqptu\ hrinr-2hhpfr uu hurtn 1s0 500 7s 000

46 39831200
'Ihurhpghtruhhp
A/anishi l0,5 tl

UU hurtn 1 000 2 2 000

47 44830000 U frfr\nhfr urtnpdruhurtl uu hurur 1 000 3 3 000

48 39221240 Uqurupfr 2nprutrng UU hrutn s{00 I s 000

49 30192210 U!n2 /dhb/ uu huru 500 35 17 500

50 30192220 U\n2$npp/ uu hurur 100 20 2 000

51 31s31210 h1h\rnpur\ruh ludq uu hruur 200 350 70 000

52 31531230
e[EquFultllllu Ltuutq
II ^A/

UU hurtn 2 000 20 40 000

53 31531620 Sbph\rulfrtr ttultul uu hulrr 1 000 70 70 000

54 31531630
Sbph\u1fL 1ntu.
hrrrr fttt r hn

uu hutn 2 000 I 2 000

55 31441000 Uurpur\ng UU hunn 200 50 10 000

56 31651400 Uh[nr-ufr2 durqutlhtr UU hurtn 150 40 6 000

5l 33761 100 9nrqurpuhh fo..ttfo uu hrurn 130 1s0 19 500

58 39224331
-Inr1 

1 /qluutnriur uurl frg/ uu hruur 600 5 3 600

59 31683300

bnrupur2|ufr2,

tlupaur\|rtr ilfrugtlnrl,

urnuhg tulnh

uu hurr.n 250 20 s 000

60 31683400 bniupru2|ufr23rI,3u, UU hurtn 1 500 10 15 000

61 3922434r
guriplnrq /urrpuP\r1/
utruuurilruu.

uu hurtn 600 4 2 400

62 39513200 foqfah urhd.hnngfr\ UU hrur.n 150 150 22500

63 3v71 1330
Lfrlupntih qurtrup

/rlurnrupurtrP
uu hruu 1 000 5 s 000



64 39831200 Zhrlnr-\ lugurtnirutr UU hurtn 700 30 21 000

65 3983r242 L,l*sph f"zl' uu hrutn 800 30 24 000

66 39831200
L{tugurpurh tlurpphlnt

rhnrh
UU hrurn 300 25 7 500

67 39831241 Odurn uu hurtn 300 120 36 000

68 39831260 Odtunfr rnrunru uu hruur 200 5 1 000

69 3922t490 Uqnrhq uu hurtn 100 100 10 000

70 3983i280
Uqut\h durpphpr
hhnntl:

uu hurtn 800 50 40 000

71. 39831210 Utfuitrh hhnnrtt UU huru 400 50 20 000

72 39831282 gruhnr-3p riupphlnt lurp uu hurtn 200 300 60 000

73 9383s000 Zuruur\fr tutlur uu hutn 1 500 5 7 500

1A 392214r0 U,ltt uu hurur 1 200 20 24 000

75 4451rr20 Qnqurpfrru\ (hru urupu\) uu hruu 250 10 2 500

76 18421 130 flhulrbh &bnhng UU qnllq s0Q 200 100 000

77 18141 100 trtuhtlnpru\rutr &hnhng uu qNLJq 400 120 48 000

78 39514500 Upntt: hphuft uu hrutn 700 10 7 000

79 34331300
Un2hlr u'Lhqb

ur pqhlur \rftuh \urlntn\u
uu hurilru

rhn
20 000 z 40 000

80 34331300
2htntrfr utttt.lh
urpqhlur\rfurh \ulntn\u

uu htuilur

t'n
10 000 2 20 0t0

81 34331300 Cunru{n1 UU hrurn 6 000 2 12 000

82 9211110
Ctupdfr2f jnul
/uhhohtnhtr/

uu tJt*p 7 000 20 140 000

83 921r400
@nluutrg. unr-rlrfr 

1 
nu1

(ilhtu.)
uu ilrtnn 8 000 8 64 000

84 34331300
curpdfr2|r qtuhllh
hhnnhn

uu huur 5 000
.)
L 10 000

85 34331400
Utlnnrlhpbtnulfr
hutnurtnbnh gnnqhtr

uu huur 12 000 2 24 000

86 34300000
3nu1fr h*tr"nh:.h
hhnnhn

uu hurtn 3 000 2 6 000

87 34300000 enlh\tnnph ftUi'qhn uu hurtn 4 000 1 4 000

88 34300000 9nhnrufr nurtrur\fr d.qurtr uu hurtn s 000 1 5 000

89 34300000
U/d hppnrrlurlfrtt

rahnohtr
UU htutn 15 300 4 500

90 921 1650 Upqhlur\fr hhrlnt\ uu t 4 000 4 l6 000



91 34331300 Unilf\f lutp uu hurtn 4 500 + 18 000

92 34351200 Uhtlurhhbhp uu hurur 30 000 4 120 000

93 34331300 Uilnptnfrqruulnp h ntqf tt uu hurtn s 000 oz 10 000

94 34331300 trnr2fr nbqflt uu hrurn 2 000 2 4 000

95 34331300 Uullpf$qrutnnP UU hurur 2 000 2 4 000

96 34331300 .[urnrfiu uu hurtn 300
.)
Z 600

97 24951310
Zur\uruurnfr2 hhrlnt\
/urhurh$nhcl/

UU t 1 500 20 30 000

98 34331300 3nu1fr qtnh2 uu huru 5 000 8 40 000

99 34331300 Uuunihurtlnp qntnh uu hurtn 9 000 2 18 000

100 34331300
U/ri urqu\hlthttit
hl=--t lr

uu tt*n 1 000 12 12 000

101 34331300
U/ri urqur\hlthfttt

funqutrur\
uu hurilrul

Itn
4 500

nL 9 000

L02 425t1r28 O+It qurltf uu hurtn s 000 2 10 000

L03 31512300 Zurlnqbhtulfrb ltudq uu urntrlr 6 000 2 12 000

104 3+331300 U/rI untlnpu \tuh turtiul uu hurtn 500 15 7 500

L05 34331300
1t\tu3|rh PuIr2fI)
(ovJresafl tsra)

uu huru 6 000 2 12 000

106 9211600 Zh+n*rltl'\lt J'.tl uu trurn 2 500
.)

5 000

L07 429r1200 trhtrq[b[ quf': UU I hruu 4 000 2 8 000

108 2281 1 130 Shtnn ntrqhurbntn uu hruu 300 20 6 000

109 2282t200 ?ilutantabn uu hruur 20 1500 30 000

110 | 30192710 Unuhb& /nnBh/ uu hruu 300 60 r8 000

111 | 30192121 Qnhr /qL4hllullnr/ uu hrutn 200 200 40 000

tt2l 30192130 Uurtnhtn uu hruur 100 120 12 000

113 30234620 qrh: uu hurtn 4 000 I 4 000

rl4 30192160 Cuphlu uu hrutn 400 40 16 000

11s 30192133 upt: UU hruur 300 30 9 000

LL6 301971 1 1

t{ runh:h rihtnur rlur[uPh

Luruhn
UU

tnntrlr/
1000

150 10 I s00

tL7 30197120 gndquni hl\*tohg uu tnnLrh/

s0
ts0 15 2 ZJV

118 30192720 abuh2[2 , uu hurn 300 25 7 s00

L19 3341 1400 Stult uu hurur 20 1000 20 000

t20 30197232
fdqpruqruhu\
/urnrucuUrun/

uu hurtn 150 70 10 500

L21 30197233 fdrlpurquibur\ /phlntf uu hurtn 1s0 50 7 500

t22 30197234
tarlpurqurhur\ \n2u
bruorintl

uu hurur I 500 10 ls 000



123 30197622 tdnqp ,\4 $npriunfr uu tnnr-rfr/

s00
2 600 15 39 000

124 30199420
fdnr-4p h2ntdtrhpfr

hunlurn
uu tnnufr/

100
300 100 30 000

125 39263320 Opurgntig UU hunn 200 3 500

rzo 39263320 Opugntjg uu hrutn 1 200 2 2 400

727 39241210 u\puu uu hurtn s00 L 1 000

r28 39263200
Qpruuhbl tu\.: ttl, qhnP'

durtnturh
UU

huru/
70

1 000 10 10 000

729 30141200 Zur2tluuutpp uu hurr,n 4 000 2 8 000

130 39263400
Urfprl\ /rfhr.ntuqur,

rhnnn/
uu tnn Lrlri

100
180 65 11 700

131 39292s10 €tutrnh qiurutnlr\ UU hrurn 300 15 4 500

132 30r92rr4
fdurtrurp tiUhptt

nurn&htrh hurtiurn
uu hrutn 1 000 2 2 000

133 30192100 flhtnfrtt uu htuur 300 s0 15 000

734 39221130 2jntpir purdu\tihP uu nntrlr 4 000 2 8 000

135 39221140 Unrpdfr pudru\hbp UU lurnr-rfr 3 000 2 6 000

136 441 1 1 100 Uq;ntuhhp IUU lhutn 1 000 50 s0 000

137 249r1200 'tl.tU unuirhA UU I hurn 1 000 5 s 000

138 44830000 Ufrf\nlt uu ltq I 000 5 s 000

139 44831s00 Int-blt2 UU t 1 500 8 12 000

t40 44831600 Llghtnnh l0,5 | UU \q 1 000 z 2 000

1,41 24911200 hrfnrlulru UU hq 4 000 2 8 000

r+z 3121 1 180 Utlurntirutnlt \"d UU huru 12 000 z 24 000

143 3121 1 180
Lllrrugriurh lt
urtr2urtnrlurh ur{unrlurtn

uu hrurn 60 000 1 60 000

744 30199798 druilugnt3g uluruh uu hurtn 3 000 2 6 000

145 42661200 9n4t[uh t1hl1upn4 uu hrutn 50 60 3 000

746 44163170 ft htnlrhh funqnrlru\trhP UU ri 600 20 12 000

r.+ I 44rrr4l2 Lhn\ uu llq s 000 20 100 000

148 44921500 alrquntrfrtn ' UU hq 1 000 10 10 000

749 44trl4l3 3nuluhhp\ uu hq 4 000 3 12 000

'r q,n 44rtt4l3 3nr-4utrhp\ /3 1. tnuPrui UU hunn 4 000 z 8 000

1s1 44192400 Qut2 UU \q 2 000 10 20 000

L52 44100000
<D2h1nr Snt..n
/uhhnruturum/

uu hurtn 2 000 1 2 000



153 4492t110 Llupnr-p qhulu UU \q 600 2 1 200

154 4492rr10 9ttq,r l2hltll uu \q 300 10 3 000

155 44100000 h1h\urp. unulr uu hurtn 300 2 600

156 44100000 'Tlfrurur /d[r2hnpti/ uu huu 500 z I 000

757 4+100000
4Iunnpurutntt u.l,ntt

/ohrihLur+rutlurq/
UU \q 100 10 I 000

158 39221420 funqrutrur\ uu hurur 1 000 5 5 000

159 44420000 bnurpur2fu |r2 |unrlntlur\ uu hurtn 500 3 1 500

160 44420000
tunr1n{ur\ dl.r2rftutr

Btrnrl
uu rihtnp 2 300 2 4 600

76I 44921500 Ohrlrtutiubfr\ uu tiq s00 10 s 000

162 4492t501 Ohrlrruriubfr\ UU hurtn 700 2 1 400

163 44921500
efrq uurl ]rh bh{r urdrubf \
/30 Uq-nq/

uu hutn 3 800 A1 15 200

L64 44921500
Ubpu3 frtr bhrfruriubf \
/30 Lq qrunL/

uu htuur 5 700 I 5 700

165 4+31 1 180 Uurnp hnullgnui uu hurtn 2 000 I 2 000

166 44t12730 gurpnrl u\urt{urnur\ uu hurur I 000 8 8 000

t67 39221460 '{p&ftt UU hruu I 500 4 6 000

168 441r1200 thrihhtn UU \q 100 800 80 000

L69 44192610 ublu UU ltq 1 s00 2 3 000

170 44420000
funrlntlru\
dhtnunuriutruutnb

uu ri 400 8 3 200

171 44420000 tunr1n{ru\ nburfrLrb uu ri 600 10 6 000

L72 44511260 Zr1\rupntlp uu pri 2 000 az 4 000

173 42131 100 gpfr rflu\urh 0,5 rlntlri uu hruu 3 500 4 14 000

t74 444trr00 Unpu! 2plt uu hutn 3 000 6 18 000

L75 44r63220 tunrlntlru\[r \g"n+lt: uu hrutn 1 200 5 6 000

t76 44510000
fuurilnrur nbrnfrhh

lunnntlurbh
uu hrutn 200 10 2 000

t77 3121 1 180
h1. rutlurmirutn

urhquuhrh .
uu hurtn 2 000 3 6 000

178 31600000 t1. [L4[\uunp UU hutn 200 5 1 000

179 44100000 Ufrur griurti t{hp2 ntj p uu hrutn 2 000 8 16 000

180 44100000 trgnr2 uu hurn 3 600 2 7 200

181 44100000 Zurrlnp4urlup UU qil 600 25 15 000

182 42131490 Ufr$ntr /&hnpfr ri.th:/ UU hutn 5 000 10 50 000



1.83 44221140 tlnrn UU huu 80 000 I 80 000

t84 44220000 UhtSnttnu\ uu tihup 2 000 20 40 000

185 44220000 Utr[nthru\ uu hurtn 2 000 20 40 000

185 44220000 Ctptnrudruqurtlblt UU dhtnp 1 500 8 12 000

L87 44220000 Uhnurrlfr uqng uu hurtn 200 5 1 000

188 42131 100 9pfr rfrtu\ult uu huru 2 000 5 10 000

189 42131480 Our\urtrhhplr riuruhP uu hruu 2 000 6 12 000

190 44521170 gnqqhp uu hutn 10 000 10 100 000

L91 44s1 1400
trtnpnrl quptutr
tuntnhnth&h dhphhuth

LIU dhtnp 3 000 J 9 000

192 443224r0 Urulntlu uu ilhtnp 6 000 20 120 000

193 3s321 130 Urltnnrftutn hnurutrPfr uu hrutn 8 000 z 16 000

t94 31221200 '{urp4tu\ (urpunuPfrtr) uu hrutn 900 20 18 000

19s 3121 1 180 Utr2ururlrl uu hunn 1 000 10 10 000

196 44420000 Titan tnnulr uu hrutn 200 10 2 000

r97 31651400 durqurtlhtr uq nttrqur3 frtt UU tlbup 250 15 3750

198 444tr720
9nrqurpruhur\nhpft
hrulvL

uu hutn 3 000 3 9 000

199 44510000 htr4fr\utnnp uu huur 250 10 2 500

200 3168s000 bntrunruqilurh trun UU hurtn 2 000 4 8 000

201 391 1 1 140 Upnn UU hrutn 13 000 6 78 000

202 14820000 uqu\l' uu ^,u- 4 000 10 40 000

203 4441 1300 lLtlrugurprutr $rup$nph uu hutn 30 000 z 60 000

204 42121420 ltrnilqphunP uu hrutn 100 000 1 100 000

205 397 II23O 
I 
h1h\urptuqurb Phltrlr\ UU huur 20 000 I 20 000

206 39s 131 10 Urhnng uu hurtn 5 000 2 10 000

207 31684400 lCurbhhP uu hurur 100 10 1 000

208 39711220 lundhth UU hurur 2 500 2 | s000

209 39531800 lQnnqtn uu hurtn 60 000 1 | 60000

2I0 32000000 lZhnrulunu /uurPP/ uu hurtn s 000 2 | 10000

z1l lZutitu!uPq21t
30237460 Illll n hnlrrrrollln

uu hutn 6 000 2 | 12000

2r2 30237 4rO lzutriu'qrupq$ riqbhU uu hurtn 3 000 2 | 6000

213 39721500
h1h\uptu\ul:
rnrrrnruontoh\

uu hurur 30 000 3 I 90000

274 3981 I 100
O4g hn{ughnrl/
uurprughnq uupp

uu hurtn 55 000 4 | 220 000

2L5 4451 1330
h1. qunrurru\ruhult
rftunurhnqnU

uu hurn ls 000 1 | 1s000

217 30237490 Zturiu\tupq2fr rinbfrurnP uu hurtn s3 000 1 53 000



218 30232230

Zruriur\rupq2rulfrtr

ur{urltrhpft
qurhqurhtiuh
,fhrrrrlnnhl';n fiTPS)

uu hurtn 2s 000 1 2s 000

219 3021 1 160 'Ilpnohunp UU hurur 160 000 I 160 000

220 U2|uurtnurhptrhP

22L s0531200
Uurpphpft

rlhnruhnnnontd
UU l1rruil 8s0 000 I 8s0 000

222 4s431 1 10
Ctrp. rlhprulinPnqriurtr

ruzluul.nurtrptrhF
uu rllulri 800 000 i 800 000

223 453i 1 1 10
qh\tn prurinhururdurl fih
rr ohrrrrnurhohhn

uu 4;rtuli s00 000 1 s00 000

224 50321 100
Zurdur\urpq2|t
rlhnrutrnnnontil

uu 4lrulti 90 000 90 000

225 501 1 1 130

Uhphtnul|t
tlhptuhnpnqtirul't

uuturutnurhPhhl

UU +puril 800 000 1 800 000

226 DurnurlntralnttrhhP

227 72411100 Zuritugrutrg uu urifu ls 000 T2 180 000

228 6421 1 100

Zutttptufttt
hhnurlunuurilrlt
hrrr nrrrrntnrnLL

UU lnnulh 900 000

229 6s111100 gplr pur2|unui uu il3 1 800 000

230 65211100 lq*qh Pu2iunui uu il3 s00 000

23L * r, *, [tu;' 
ni \rurrntP3 urtr uu 4Fuil 2 700 000

232 34300000 Uhphtrurl fr pfril f ruPPnui uu hurn 20 000 2 40 000

233 9091 1 170
Jluuto4utnutP
nr nhhhnh tlurpnnul

uu r1purti 30 000 1 30 000

234 66511170

firnntnpurtruqnptnulf r

tr dfr2ngtrhpft
,r., rrr rrr h n rl rrronntntnttl

uu llrluti 40 000 2 80 000

235 7131 1380
O4unlrnluriurh
h rrr r f urb urnoh c htrntti

UU 4purti 15 000 1 15 000

235 s01 1 1 180 Utinnltlurgnui uu rlpulti 3 500 10 35 000

237 s01 1 1330
Uhrlur4nrlhplr
hul]uruurpur\2nntd

uu 4trulti 4 000 4 16 000

238 66s1 1 170 Uhphhurl fr rnhluqhtrnui UU rlpurd 12 000 2 24 000

239 71631 1 10

Uupphpft Lt

utuppur{npnuihhPfr
urnntgu:rurlrnul
/crrr rh rrr nhr n n tnt nth/

UU 4frtud 200 000 I 200 000



240 792r1150

nput\h tifr2. uhprn. hbtn

\ruqtlub
urnr-4frurnpru\urh

Eurnurlntplnr-hhbp

UU 980 000 1 980 000

24t 4822t200

2urtfur\urpg:uJ htr urhlu.

h bpurqpulfrh

urqurhnt[nr-dLhplt

ri2ur\ntd tt

uruuuurnhnttl lZOl

uu rnurFh 1 10 000 1 1 10 000

242 9831 1 13
anpqhpfr 1t[rugrirult
burnrulntpjnr-hhhp

uu pri 500 50 25 000

243 724rt700 'Inrihltrlr qurhqurhnr-d uu rlpuril 30 000 1 30 000

244 72421200

2uriurgrutrglr

qurpqrugrfiuh

brunurrnrtalnthhhn

uu 4Iruni 200 000 1 200 000

245 92421100

idhFtobFnrtl

hurj u tupur pntpl nrtrhbpft

tnqruqprftuh
hrnnrrrrnr nrnr tt

uu rlpuri 40 000 1 40 000

246 637t1220

Urlurnrihphbubbpft

\urlurhtiurl:
burnrurnlornthtrhn

uu rlpulti 1 000 24 24 000

247 99400000
Ohbutnpfr {rupntti l:
rrruhrutuhnul

uu 4Irruri 6 200 t2 74 400

248 9051 I 100

rtnrlnthurl

brunrulnr-p3nttrbbp

/urnnurhurtrntntntb/

UU qtrluti s00 000 I 500 000

249 72610000
€*nrnphZh
rhopurilnnnul

UU 6 000 5 30 000

250 79131300

tl.uutnpurqpntpluttr
htu{ruutnruqpriurh
Xrrrnrrrrnr nrnr lrhhn

uu rlpuni 3 000
oJ 9 000

Ch4ulihhp 26 962 800


